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Cluster: 0120 ptr; resid: 0.36; r/c: 23/73

x.range

upstream meme PSSM #1; e=4.8e+03

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=5.8e+03

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211
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10593

40933

1476251242

18665
30471

7237

19093

22896

13921

14472

14927

15214

21535

29758

37658

43061

44139

45833

50476

54589

6756

7528

string −500 −400 −300 −200 −100 −1
10593−0.05
40933−0.06
19093−0.09
43061−0.09

7237−0.15
14762−0.16
51242−0.21
14472−0.22
37658−0.22
22896−0.24
45833−0.30

6756−0.37
15214−0.41

7528−0.41
13921−0.50
44139−0.50
30471−0.63
29758−0.78
54589−0.79
18665−0.83
50476−0.83
21535−5.73
14927−7.97

log10(P) upstream meme1 2 log10(P.clust)=−0.94; 23 seqs; 23 uniq
c(0.5, 2.5)
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